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Test statistic (comparing two means, independent samples), if σ2
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Test statistic (comparing two proportions):
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where p̂ is the pooled sample proportion.
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ANOVA table formulas:

MST = SST/(k − 1), MSE = SSE/(n − k), F = MST/MSE

Regression and correlation formulas:

β̂1 = SSxy/SSxx, β̂0 = Ȳ − β̂1X̄, s =
√
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√
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, r2 = 1 − SSE/SSyy

Test statistic for test of model usefulness:
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Test statistic, Test for Multinomial Probabilities:

χ2 =
∑ [ni − E(ni)]

2
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where E(ni) = npi is the expected cell count if H0 is true.

Test statistic, Test for Independence:

χ2 =
∑ [nij − Ê(nij)]

2

Ê(nij)

where Ê(nij) = RiCj/n is the expected count in cell (i, j) under independence.
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